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(A) He was busy with his work.

(B) He was not busy with his work.

(C) He is busy in his work.

(D) He is busy with his work.
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(A) He is rich, still he does not help the
poor.

(B) He is very rich, still he does not help
the poor.

(C) He was a rich man, still he does not
help the poor.

(D) He is too rich, he does not help the

poor.
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‘ (A) She has been waited for you half hour.

(B) She has been waiting for you for half
an hour.

(C) She had been waiting you half an

hour.
(D) She have been waiting for you for
half an hour.
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Choose the most appropriate translation
of the given sentence into English :

'm%*wrsarwﬁm% :

(C) We have taken our breakfast.
(D).-We have already taken our breakfast.

Choose the correct Hindi translation of the
followmg sentence from the options given
beIow

They were in class.

). Fw A A
(B)-* waal ® & |
©) o T & & |
©) 3w ¥ 7

Choose the most appropriate translation
of the given sentence into English :

az s?rvn e & 6 e T W |
(A) -He is so fat that he cannot walk
(B)<He is too fat that he cannot walk.
(C):He is so fat to walk.

(D)~He is so fat that cannot walk.

Which is the most correct Hindi translation
of the given sentence ?

Thie-corrected copy is put up for signature.

(A)aﬁﬁgqﬁrmm%mﬁﬂ%t
(B)yvgﬁﬁzauﬁrmm%ﬁqu%t

(C) Sildl g3 w1y st % f wga & |
(D) weifir widy ewmer % Rw dor &
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Choose the correct option for the
underlined part of the sentence :

Let he and I do the work today.
(A) he and me

(B) him and me

(C) him and myself

(D) No correction

Which one of the following is a correct
sentence ?7

(A) I am living here since 1995.

(B) I have been living here since 1995.
(C) I were living here from 1995.

(D) I was living here since 1995.

Each of the Girl Scouts a
community project.

(A) does
(C) participates

(B) do
(D) participate

In the question below, a part of sentence
is underlined. Choose the correct
alternative which may improve the

-sentence

He is elder than John. _
(A) Older than (B) Elder to
(C) Older to (D) Elder from

Choose the correct translation of the
following word from the given options :

Industrialization
(A) FdETor (B) wEim
(C) ofEirfieor (D) wemoftescm
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88

89

90  Choose the appropriate prefix to make the
new word : e N
Colon
(A) Sub- (B) Re-

(C) Semi- (D) Super-

91  Choose the appropriate suffix to form new
word : L
Trust
(A) -able (B) -worthy*
©) Iy D) -less

9] £

Killing of a new-born baby.
(B) child-killer
(D) infant - murdeérer

(A) genocide
(C) infanticide

Replace the underlined part of the
following sentence with one Word fmin
the following options : e

This plate is liable to be easily broken:
(A) tough (B) rough RE3
(C) delicate (D) brittle

A person who studies the inﬂuenc: é’f
heavenly bodies on human beings.

(B) Astrologer L
(D) Chauffeur

(A) Astronomer
(C) Ambassador

A remedy for all diseases.

(A) Panax (B) Panacea

(C) Palliative (D) Panache

What does the word 'pre-war' means 7
(A) before the war o
(B) after the war

(C) during the war

(D) between the war
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Choose the correct word.

The - ofthe dress led to the misfit.
(shrink)

(A) shrinkness (B) shrinkful

(C) shrinkage | (D) shrinkhood

I wish I had seen the show last night.

I heard it was a good performance.
(B) quit

(D) none

(A) quiet
(C) quite

Fill in the blank with an appropriate word
from the options given below :

She is
(A) legible
(C) illegible

_ for the job.
(B) eligible
D) illegal

Fill in the blank with an appropriate word
from the options given below :

My parents- from Pakistan in

1947.
(B) immigrated
(D) exiled

(A) emigrated
(C) migrated

Fill in the blank with an appropriate word
from the options given below :

She has given her to the proposal.
(A) ascent (B) assent
(C) accent (D) adjacent
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Read the passage and answer : Q. 97 to 102

Vehicular pollution causes serious health

problems. Carbon monoxide, nitrogen oxides and
hydrocarbons emitted by motor vehicles trigger
off a complex chain reaction resulting in
- dangerous pollutants such as ozone, aldehydes
and ketones. The prolonged inhalation of carbon
monoxide present in the toxic fumes reduces
the carbon carrying capacity of the blood, and
may cause headache, sickness and even death.
Likewise, unburned fragments of hydrocarbons
form smog thicken with elements that may cause
cancer.

97

- 98

99

100

101

The central idea of the passage is -
(A) Reaction of pollutants

(B) LI effects of vehicular pollution
(C) Causes of cancer

(D) Pollutants of atmosphere

Which of the following is likely to cause
cancer 7

(A) Inhalation of carbon monoxide

(B) Reduction of carbon

(C) Unburned hydrocarbon

(D) Smog

Which word in the passage means the |

same as 'lengthy' ?
(A) Chain reaction (B) Prolonged
(C) Extend (D) Emitted

What reduces the carbon carrying capacity |

of the blood ?

(A) A complex chain reaction.

(B) Unburned fragments of hydrocarbons.

(C) The pollution from vehicles.

(D) Breathing carbon monoxide for a long
time.

Vehicular Pollution causes pollutants such
as -

(A) ozone, aldehydes and ketones

(B) carbon monoxide and hydrocarbons
(C) hydrocarbons

(D) nitrogen oxides

9] &
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107

Which of the word in the passage means
poisonous ?

(A) cancer
(C) serious

(B) toxic
(D) ketones

Which of the following makes an offer to
supply goods and services ?

(A) Tender (B) Notice
(C) Circulars (D) Memo

Choose the correct option :

In a circular, language should be -
(A) round about

(B) to the point and objective

(C) emotional

(D) vague

Choose the correct option :

A letter or advertisement which is
distributed to a selective number of people
within the organisation is -

‘(A) Official letter (B) Notice

(C) Circular (D) Tender

Choose the correct option :

Modern business letters are usually written
in -

(A) Full block style

(B) Indented style

(C) Semi blocked style

(D) Simplified style

Choose the appropriate synonym of the
given word :

Reluctance

(A) Affection

(B) Attachment
(C) Care

(D) Unwillingness

[PTO.
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109
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112

Choose the appropriate synonym of the
following word :
Hungry
(A) eager (B) greedy
(C) starving (D) unsatisfy
Choose the correct Hindi translation of the
following word from the given options :
Gazetted holiday
(A) T gl
(B) T wward g
(ORGEER:E
(D) vemEtTE TH
Choose the correct Hindi translation of the
following word from the options given
below :
Will
(A) e (B) s U
(€) T (D) 9y o
Choose the synonym of the given word :
Pester
(A) Console (B) Annoy
(C) Gratify (D) Torture
Choose the appropriate synonym of the
given word :
Tyranny
(A) Misrule B) Cruelty [5o0te
(C) Dictatorship (D) Autocracy

11
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114

115

116

117

118

Choose the appropriate synonym of the
given word :

\ Assimilate
(A) Distribute (B) Arrange
(C) Receive (D) Absorb

What is the synonym of Juvenile ?
(A) nubile (B) adult
(C) childish (D) mature

Choose the appropriate antonym of the
given word :

Ascend
(A) Descend (B) Departure
(C) Come up (D) Reach

Choose the correct antonym of the
following word from the options given

. below : -

True

(A) fact (B) exempt
(C) false (D) genuine

Choose the correct antonym of 'mortify’ :
(A) honor (B) abash
(C) chasten (D) crush

Give the opposite of the word given
below : B

Tangible -
(A) Ethereal (B) Concrete
(C) Actual (D) Solid

[PTO.
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119

120

121

122

Choose the correct Direct speech of the
following sentence from the options given
below :

She said that honesty is the best policy.

(A) She said, "Honesty was the best
policy."

(B) She said, "Honesty is the best policy."
(C) She said that "Honesty is the best
policy." '
(D) She says, "Honesty is the best policy."

Change the following sentence into Difect
Speech :

She said that she was happy.

(A) She said, "I was happy".

(B) "I am happy", she said.

(C) "I am happy", is what she said.

(D) This is what she said, "I am happy.”

Choose the correct indirect speech of the
following sentence from the given options :

She said to him, "Are you fine ?"

(A) She asked that if you were fine.
(B) She asked him if he is fine.

(C) She told him whether you are fine.
(D) She asked him whether he was fine.

Which of the following is the most apt
conversion from affirmative to negative ?

Everybody was present.
(A) All were present.
(B) No one were absent.
(C) Nobody was absent.
(D) All is absent.

90] £
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123 Choose the correct option for Assertive to
- Negative transformation for the sentence
~given :

As soon as he came he made objections.

(A) There was no other who made
objections.

.{B) None but he made objections.

“{€) No sooner did he come than he made
.~ objections.

“{D) No sooner had he made the objection,

as he came.

P

124 Choose the correct option for Negative to
< Assertive transformation for the sentence
cgiven :

. No one can deny that she was pretty.

“€A) Everybody did not deny, that she was

not pretty.

iB) Everybody admits that she was pretty.
£€) We found here pretfy.

“{D) She was considered pretty by
£+ everybody.

125 "":Léhoose the correct assertive form of the

follomng sentence from the given optlons

Ihey did not sign the paper.

“A) They do sign the paper.
{V*E,(;E) They signed the paper.
© They have signed the paper.

(D) They were signing the paper.

[P.TO.
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129

Choose the correct option changing the
followmg sentence into exclamatory :
She sings very sweetly. e
(A) What sweet she sings ! W
(B) How sweet does she sing !
(C) What sweet does she sing '
(D) How sweetly she sings ! .

Choose the correct option changing the
following sentence into exclamatory :

It is a matter of praise that he has won the
trophy.

&

(A) Bravo ! he has won the trophy.:
(B) Bravo, he won the trophy ! .
(C) Hurrah ! he has won the trophy.
(D) Alas ! he won the trophy. o
Fill in the blénk with the correct afticle :
Ann's looking for
(A) a B) the
(© an -

new job.
(D) some .

Choose the correct form of Passive
transformation of the sentence given :

The President gave him a reward.

(A) A reward was given by hnn to the
President.

f““

(B) He was given by the Pre81dent the
reward.

(C) He was given the reward by a
President.

(D) He was given a reward by the
President.

9] &
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134
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Choose the appropriate determiner given
in the options :

of the animals that live in
the desert are nocturnal.

(A) Much (B) Some
(C) Each ’(D) Every

Choose the appropriate determiner given
in the options :
I would like to have helped my friend but

I had time so I had to refuse her.
(A) few (B) plenty
(C) alittle (D) little

Choose the correct preposition :
Mary passed me her bicycle.
(A) at

(C) above

(B) in
(D) on

Choose the correct preposition :

It is terrible that some people are dying
hunger while others eat too

‘much.
(A) of (B) on
(C) in (D) at

Choose the correct preposition :

Would you care a cup of
coffee ?

(A) of B) in

(C) about (D) for

Choose the correct preposition :

Julia is studying chemistry
university.

(A) at
(C) into

(B) on
(D) by
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136 Choose the correct tense of the verb from
the given options : }
What me is the generosity of the
Principal.
(A) strikes (B) strike
(C) stroke (D) striking
137 Fill in the blank with the correct tense of
the verb given in the bracket choosing from
the options given below :
He generally (go) for a walk
every morning even now.
(A) has gone (B) went
(C) goes (D) had gone
138 Fill in the blank with the correct form of
verb :
She in the hospital since Monday.
(A) have been B) is being
(C) has been (D) would have been
139 Choose the correct tense of the verb from
the given options : ' ;
When he gets home, his wife o at
the gate waiting for him.
(A) sits (B) will sit
(C) will be sitting (D) would sit
140 Which is the correct passive form of the
given sentence ?
The shepherd has lost six sheep.
(A) Six sheep has been lost by the
shepherd.
(B) Six sheep have been lost by the
shepherd.
(C) Six sheep were lost by the shepherd.
(D) Six sheep had been lost by the
shepherd.
9] A
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144

Select the correct transformation from
active to passive voice :

They made him prince.

(A) They will make him prince.
(B) He was made prince.

(C) He will be made prince.
(D) They will elect him prince.

Select the correct transformation from

active to passive voice :

How do people learn languages ?

(A) How are languages learnt ?

(B) How will be languages learnt ?
(C) How should languages be learnt ?
(D) How is language learnt ?

Choose the correct form of Active Voice
of the sentence given :

He ought to have been told.

(AZ They ought to have told him.
(B) They ought to tell him.

(C) He ought to be told.

(D) Let him be told.

Choose the correct Direct speech of the
following sentence from the given options :

He says that the king will come.

(A) He says that "the king will come."
(B) He says "the king would come."
(C) He says "the \king came."

(D) He says, "The king will come."

_[PTO.

145

Choose the correct interrogative
transformation of the given assertive
sentence :

It does not matter much though we happen
to be late. '

(A) What though we happen to be late ?

(B) What happens even though we are
late ?

(C) Does it matter not much even if we
happen to be late ?

(D) Does it matter much even though we
are not late ?

146 Choose the correct option for Assertive to
Interrogative transformation of the
sentence given :

I am not the man to submit.
(A) Is there a man to submit ?
(B) Am I the man to submit ?
(C) Is that a'way to submit ?
(D) Should a man not submit ?

147 Choose the correct option of conversion
from Assertive to Interrogative :
Nobody can measure my love for you.
(A) Who will measure my love for you ?
(B) Who cén measure my love for you ?
(C) Who would measure my love for

you ?
(D) Who could ever measure my love for
you ? '

9] 4

LDC Exam 2018 (2nd Paper) 16-09-2018

15

148

149

150

Choose the correct option for Interrogative
to Assertive transformation of the sentence
given :

Can any man, by taking thought, add a
cubit to his stature ?

(A) Any man can add a cubit to his
stature.

(B) That is how one can add a cubit to
his stature, by taking thought.

(C) No man can, by taking a thought, add
a cubit to his stature.

(D) Everyone can add a cubit, by taking
a thought, to his stature.

Choose the correct opﬁon for Assertive to
Exclamatory transformation of the
sentence given :

Man is a wonderful piece of art.

(A) Oh, how a wonderful piece of art is
man !

(B) What a wonderful piece of art man
is!

(C) Alas man is a wonderful piece of art !

(D) Man, as a piéce of art, is wonderful !

Change from Exclamatory to Assertive.

- What a marvellous painting he made !

(A) Did he make a marvellous painting
(B) He made a very marvellous paiﬁtirig
(C) He makes a marvellous painting

(D) He will make a marvellous painting

[PTO.
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